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Midterm Exam I

You will have 50 minutes for this exam. Please write your answers neatly. Read the questions carefully and think clearly. Good luck!

Part I.  Multiple Choice Questions (20 minutes)

1. Which of the following will not cause a shift in the demand for brown paper bags?      
a. a higher expected future price of brown paper bags.
b. a lower price for plastic lunch bags.
c. an increase in the price of brown paper bags.
d. a decline in household incomes.
2. Assuming that bacon and eggs are complements, an increase in the price of bacon would
a. cause a decrease in the demand for eggs.
b. cause an increase in the demand for eggs.
c. cause no change in the demand for eggs, just a movement along the demand curve.
d. cause an increase in the supply of eggs.
3. A shift in the supply curve for newspapers, following an increase in the price of newsprint paper, will result in
a. an increase in the quantity sold and a decrease in price.
b. an increase in price and a decrease in the quantity sold.
c. an increase in the quantity sold and an increase in price.
d. a decrease in quantity sold and a decrease in price.
4. A perfectly inelastic supply curve represents
a. a product supply that is extremely responsive to a price change.
b. a product with a constant price, regardless the quantity offered for sale.
c. a product in abundant supply.
d. a fixed supply of a good.

5. If a drought destroyed half of the U.S. garlic crop at a time when the health benefits of garlic were being well-publicized, economists would expect that in the market for garlic

a. quantity traded would rise but the change in price is uncertain without further information.
b. price would rise but the change in quantity traded is uncertain without further information.
c. both price and quantity traded would rise.
d. price would rise and quantity traded would fall.
6. Both the price of peanut butter and the quantity sold would rise if
a. more households entered the market.
b. consumers began avoiding high-fat products.
c. the U.S. peanut crop failed due to heavy flooding.
d. new technology reduced the cost of producing peanut butter.
7. If the price of tickets to Disney World increases from $30 to $35, and as a result attendance falls by 5%, then the demand for tickets is:

a. elastic
b. unit elastic
c. inelastic

d. indeterminate
8. The government will be more successful in curtailing alcohol consumption through a sales tax on alcohol if the demand for alcohol
a. is inelastic
b. has zero elasticity
c. is elastic

d. is perfectly inelastic
9. If a 10 percent reduction in airfare led to a 5 percent increase in revenues for the airlines, we can infer that the price elasticity of demand for air travel in this range is
a. elastic.
b. inelastic.
c. 2.5
d. 0.5
10. Demand for a good will tend to be more elastic if
a. it has no complements.
b. it has close substitutes.
c. it is a small part of the household budget.
d. elasticity is measured in the short run rather than the long run.
11. The supply curve will be more elastic in the long run in response to a price change because
a. consumers have time to discover substitute products.
b. sellers have time to adjust capacity and the number of workers.
c. sellers will eventually exhaust their inventories of goods.
d. materials used in production will become more expensive over time.
12. If a 10% rise in the price of Pepsi results in a 20% rise in the quantity demanded of Coke, then the cross-price elasticity of Coke with respect to the price of Pepsi is equal to
a. 2.0
b. 0.5
c. –2.0 
d. 20% 

13. Lines, ration coupons, and black markets are symptoms of a
a. price floor.
b. price ceiling.
c. free market.
d. barter economy.

14. If the government imposes a tax on a good whose supply is perfectly elastic, then 
a. Buyers pay the full amount of the tax.

b. Buyers pay the full amount of the tax.

c. Buyers and sellers each pay half of the tax.

d. The tax yields no revenue for the government.

15. The U.S. government keeps the price of sugar artificially high. If the market for sugar were to become unregulated, we would expect

a. the price to rise and the quantity traded to fall.
b. the price to fall and the quantity traded to rise.
c. the price to fall but the quantity traded to be unchanged.
d. both the price and quantity traded to fall.
16. Suppose that Sun City, Arizona adopted rent controls on all apartments, with a maximum legal price that was below the market-clearing price.
a. The supply of rental housing would not change much in the short-run, because the supply is inelastic in the short-run.
b. A surplus of rental housing would emerge.
c. There would be a decline in the demand for rental housing.
d. A shortage would not emerge, due to the elasticity of supply.
17. Suppose a large group of unskilled immigrants enters the county, and that they are exempt from the minimum-wage laws. If they are good substitutes for unskilled domestic labor, then
a. employment of both domestic and immigrant unskilled labor would rise.
b. wages of unskilled domestic labor would tend to rise.
c. employment of unskilled domestic labor would fall substantially.
d. employment of unskilled immigrant labor would fall, since the minimum wage lowers employment of all unskilled labor.
18. If the minimum wage rises, and the McDonald's in your neighborhood increases employment of minimum-wage workers, you would reasonably conclude that 
a. minimum wages, in certain cases, can actually increase employment.
b. profits at the restaurant will fall.
c. the management has made a mistake.
d. some factor other than the change in the minimum wage has led to the restaurant expanding employment.
19. To raise $1 billion per year, Congress has decided to tax one of two petroleum products. Many firms supply both products and their demand elasticities are the same, but for product X, the supply elasticity is .9, while for Y it is 1.3. As the economist for the Petroleum Institute, which tax (on X or Y) should the industry oppose most strongly?

a. Product X, because the industry would bear a larger part of the burden of the tax on it.

b. Product Y, because the industry would bear a larger part of the burden of the tax on it.

c. Product X, because its supply is more elastic.

d. Product Y, because its supply is less elastic.

20. If production of wheat is subsidized, we would expect
a. the price of bread to rise and the quantity demanded of bread to fall.
b. the price of bread to fall, the quantity demanded of bread to rise, and the price of jam to increase.
c. tax revenues to rise.
d. a change in the price of bread only if demand or supply were perfectly elastic.
Part II.  Critical Thinking Questions (30 minutes)

  1. How would each of the following change the demand for wine, the price of wine and the equilibrium quantity demanded of wine?
a. The average level of income rises.

b. The price of beer rises.

c. New research documents the health benefits of drinking wine.

d.  The price of wine declines.
  2. The demand curve for hotel rooms is Qd = 1000-5PB and the supply curve is Qs = 200+3PS, where Qd is the quantity demanded and Qs is the quantity supplied, PB is the price paid by buyers and PS is the price received by sellers. The city government imposes a $10 tax on hotel rooms. 

a. What is the equilibrium price to buyers after the tax is imposed? 

b. What is the equilibrium price received by sellers after the tax is imposed?

c. What is the equilibrium quantity after the tax is imposed? 

d. What is the total tax payment to the government?

e. What fraction of the tax payment do buyers and sellers pay?

f. From your answer to 2e above, is supply or demand more elastic?

3. In Heartland, the minimum wage is currently $4.00 per hour and the fast food industry is the only industry that pays the minimum wage.  50% of the workers in the industry are between 16 and 21 years old. The president of Heartland, concerned about decreasing the proportion of families with incomes below the poverty line, proposes increasing the minimum wage by 20%.

a. Assume the labor market for low skilled workers is perfectly competitive. Use a graph to explain why an increase in the minimum wage might reduce employment in the fast food industry. 

b. Suppose the price elasticity of demand for workers in the fast food industry is 0.25. What effect will a 20% increase in the minimum wage have on the number of units of labor hired in the fast food industry?

c. Use supply and demand analysis to describe the likely effect of this increase in the minimum wage on the price and quantity sold of meals at fast food restaurants?

d.  Describe one advantage and one disadvantage of increasing the minimum wage as a strategy to alleviate poverty.

4.  Suppose the federal government decides to legalize the production, sale and consumption of marijuana.  

a. What will be the effect on the supply and demand of marijuana? Explain.

b. What will happen to the equilibrium price and quantity sold?

c. Based on your analysis above, argue whether the government should legalize or not legalize the production, sales and consumption of marijuana.

5.  Blue City has a growing number of homeless men and women roaming its streets.  Councilman Wong argues that the problem is a shortage of affordable housing and proposes introducing a rent ceiling of $350 a month for one-bedroom apartments.  

a. Use a graph to illustrate the effects of a $350 rent ceiling on the housing market.

b. Councilman Hammond argues that the city should pay a subsidy of $2100 a month to landlords who rent on bedroom apartments to formerly homeless men and women.  Use the same graph to illustrate the effects of this subsidy program on the housing market. 

c. What are the disadvantages of this housing subsidy as compared with the rent control law?
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